Notes: Linear Growth using Tables

slope — intercept form ofaline:y = m ' x + b

inotherwords ... v = (rate of change)x + beginning

Review Linear Growth using Block Patterns

Write equations in the formof y=m X+ b
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_l__\ me CW‘P“’ Paul’s plumbing charges $100 for a service call and $30 for each hour of work.
Create a table of values showing possible charges for a service calls lasting from

! m!”tﬁ ; g!lhb\[ 0 to 6 hours.
+\ C; 0o Dfp
X C% 50 3"60 50 dollars

g OO <& —_ y change pe vertical change
Rate of change (m) ? ] how x change horizontal change

&x) Beginning value - step 0 (b) ? "-_]2 50
350 Write an equation y = mx+ b to represent the pattern m: ’T' )( + m
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You hay vballs. In a snowball fight you throw the snowballs at a
rate {5 secpnds. Create a table of values showing how many
snowballs you have over T30 second period.

(Count by something other than 1)

-2 srowiglls
5 suonds

Beginning value - step 0 (D) ? 50

2

Rate of change (m) ?

v change vertical change

x change horizontal change

B |
Write an equation y=mx + b to represent the pattern V\: g )‘ p3 50
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Your cell phone plan costs $20 each month, For each text vou send it costs $0.20.
Create a table of values showing your monthly bill if you send 0 to 60 texts.
(Count by something other than 1)

s 2 ollars

y change vertical change
we of change (m) ? |0 "‘CJ,CI'S x change horizontal change
Beginning value - step 0 (b) ? & i
Write an equation y = mx + b to represent the pattern 0




